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" The curve indicating complete information
about learning is called :

(A) Curve of increasing return

(B) Curve of decreasing return

(C) Curve of equal return

(D) S—Shaped Curve

What is not essential for measurement of
learning ?

(A) To know tactics of teaching

(B) To know validity of examinations

(C) To know reliability of examinations
(D) To know acquired skills of the students
Intelligence tests are used for :

(A) Grouping the students in school

(B) Guidance purpose

(C) Selection purpose

(D) All of the above

Which of the following is not the element of
‘Stimulus Variation Skill” ?

(A) Set Induction

(B) Movement

(C) Gestures

(D) Change in voice

A teacher plans his teaching learning process
keeping in view :

(A) The objectives formulated

(B) The human and physical resources

(C) Both (A) and (B)

(D) None of the above

How will you mainly develop self-discipline
among your students ?

(A) Giving them responsibilities

(B) Telling them rules for good character
(C) Giving punishment

(D) Following the rules

Teaching aptitude means :

(A) Devotion towards teaching work

(B) Desire to become a teacher

(C) All the requisite abilities for profession
of a teacher

(D) Good rapport with student

From the following, which is the best method

of measurement of a student’s inner feelings ?

(A) Questionnaire

(B) Interview

(C) Sociometry

(D) Transplantation method
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(D) TH—HR T
IR AT B B ford T Aavs el & ?
(A) TRwror & gl &1 gar T

(B) Ui & e S B

(C) Wit & fvaw-iar s &

(D) faenfRial grr afia dlrelt 1 s @
& ueri &1y e S 2

(A) frrerg 4 vl &1 w9 foee &
(B) TE¥M & yaiem &g

(C) T I B YA &g

(D) Swih Wi

fr=fofea # & @19 a1 ‘SgIue aRade drerer
B AT TR ?

(A) o= dRor

(B) HHe™

(C) TE-¥1@

(D) qTH—<aHY IR

S REs au Remv—sfrm ufhar & g
T GG S § X g

(A) fiffa Sgew

(B) dM9 U4 s wama

(C) @I (A) U@ (B)

(D) S ¥ ¥ B1g T

I o el § g AR W e
fber yaR fasfg st ?

(A) TP IRaIIE ShY

(B) ¥= aRa & fgm s

(C) TS TN

(D) FaHi &1 U W

Rveror afaiaar & arad &

(A) Reor a1 & ufy wdor

(B) Rmerd s+ & g1 3@

(C) Rued & Jawm o1 w4t aifdd argar) v
(D) BHE W W Ferollel

fefoRaa & & foedt faemft & amaRe F=mat
@ A9 P! warW ufefy B @ 8 ?

(A) VeI

(B) TRITHR

(C) wHrafafa

(D) SR fafdy
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9. The cognitive behavioural skill of enabling the 0. HHIHS FIERIT PIYTd & 3faiid faemeli &
learner, to understand the use of theoretical dgifad FUH1 D STINT BT arared gRRfET
statements in real situations is called : ¥ gRN @ QEH 9 PR &

(A) Understanding sadn

(B) Application (A

(C) Analysis (B) SR

(D) Synthesis (C) fawermm
(D) HTeT

10.  While writing on the blackboard, out of the 10. TUMUE W foRgd 99y, 3BRT BT PR T B
following options, what will you specially keep ® ford amg frg 91d &1 9w &= <& ?
in mind to decide about the size of letters. (A) WHUE T el 3 mg @

(A) Distance between blackboard and students (B) WM T R & e iﬂ
(B) Distance between blackboard and teacher S

(C) Length of classroom (C) Eﬁ&T ,

(D) None of the above (D) SUYH ¥ ¥ DI TEI

11. From the following, which one is not the 11. f=fofed & ¥ o9 o @27 Ay v wmef

element of ‘guidance and counselling’ ? PTAT B ?

(A) Adjustment (A) AT HAT

(B) Orientation GWW

(C) To develop emotions () ot 1 mm
(D) None of the above Eg)) 1 Qo

12.  Which step is not included in Action Research ? ~ 12.  fohuici eI # B |1 UG \ffort 8 a¥erl 87
(A) Selecting the problem (A) G911 999
(B) Generalisation of results (B) qﬁvm;ﬁ T W
(C) Formulation of action hypoth;:ses s ©) Fruis TRETT B
(D) Preparing plan to overcome the problem

(D) T B | & & forg I fmior

13. To wunderstand the heredity, you must 13. ’d?ﬂjﬂa'q B WI%F\T @ forl SMUe! e d wU ¥
understand : AT BT
(A) The law of similarity (A) AT T ﬁ'q’q
(B) The }aw o? variation (B) v a1
(C) The law of regression &

(D) All of the above Eg)) ; '\q'Tﬁr frrrs

14.  One of the following is not the method of  14. fa=foiad # ¥ ve It av= ot fafyy «18f & -
educational measurement : (A) VIR
(A) Interview (B) WMG—|id e
(B) Norm-referenced Test © PrCICrl
(C) Questionnaire )

(D) Observation (D)

15.  What is the real carrier of hereditary traits ? 15. Cﬂ'l’j’dﬁﬁ Tﬁ &1 IRAD Haed FT 8 °
(A) Chromosomes (A) T g
(B) Nucleus (B) DED
(C) Genes ©) S
(D) None of the above D) ; 38 e T8

16. A child is scared when he see black dog, black 16. U® qad I I, Brell fdeelt (3 Sl DI Bl
cat and black coat. This conditioning is TGRS AT AT & 39 UBR B I H
involved in : fafee @

(A) Generalisation of response (A) SFﬁWT BT AT
(B) Generalisation of stimulus (B) TENTH P AHRGR
. (C) Both (A) & (B) (©) 3 (A) 3R (B)
/ (D) None of the above D) 5 o T
() INDIRESULTE gl
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17.  The practical method to make student understand 17. fenfdal &1 ofq =i &1 af W @
the meaning of the difficult word is to : Taefe fafy & ¢
(A) Teach them usage of such words in (A) T9 =T B a § GO RS G
sentences )
B) Give their antonyms (B) IAwd s aret 31
(C) Give their synonyms (C) HHH ?ji“ﬂs_f{ A
‘ (D) None of the above (D) U # & P TE
18.  Personality of an individual is which aspect of ~ 18.  fdecy, fobel afdd & aeR &1 &9 a1 W7 & ?
his behaviour ? (A) WSS u&f
| (A) COngitiVﬁ aspect (B) ﬂ—\r_w ey
l (B) Non-cognitive aspect ©) P T
(C) Intellectual aspect
(D) External aspect (D) e W
19.  As a teacher, if you want to correct the bad 19.  EUNd 8 & A I oy el faemeft & gﬁ
habit of a student, which theory of learning ared & iCIG Ied &, a1 ShaTcd IIerT 9491
you will keep in mind while planning the 9T 3 IR @ fra Rigia @ e A @
action ? Emﬁ fyefa
(A) Insight Theory A) . frgi
(B) Trial and Error Theory (B) AN T 3% .
(C) Classical Conditioning Theory (C) ¥ W Riga
(D) Field Theory (D) &3 fugra
20. Why micro-teaching is important for  20. FHH—PHg G ?T:[ q&w—ﬁlm T} TP 8 7
classroom communication ? (A) Tg_thqw gg
(A) To get feedback (B) fift=1 avia @ Rem gg
(B) To develop various skills (€) B T’T e %g
(C) To complete the lesson .
(D) To evaluate (D) el %ﬁ
21.  Thebehaviour ofateacher may be from ‘verbal’  21. ¥Ry ufhar & fre o @aer wfes @
to ‘non-verbal’ in communication process. JNfeed’ Th 8 Hhdl & |
(A) Itistrue (A) T OEr 8
(B) It is not true (B) TE Tad 2
Eg)) sad e o (©) & ifE &7 & 2
one of the above :
(D) SWt § ¥ Pig T
22.  While doing group teaching, out of the 22. WHRG-REW Fxa vy el @ afwrg
following, which method you will apply to TR & TR g fFifofea & § o a9
solve individualized problems of each student? & ARy 37 yaT B ?
(A) Lecture (A) g0
(B) Programmed Instruction
(C) Tutorial (B) Ml Srgeer
(D) Demonstration ©) W
(D) WA
23. \:fuhdilet assig?ingh a ‘ﬁ)ro{(eict 1work’kto the 23, BE @ IRIAGT I <} W @ Bed @
students, a teacher should always keep in ; ;
mind that it must have : g b EHRI A & RG Ae f g
(A) Educational purpose (A) warer e & )
(B) Relation with real life situations (B) WdY drfdd oitgd & aRRefcl & &
(C) Learning by activity (C) W fopam g1 @
(D) All of the above (D) G'Q'{i?ﬁ T
24, ?ight to Eliiucatti;n Act‘:l 2009 has a provision for : 24.  fmm @1 feR AW 2000 # yUE §
A) Right to free and compulsory education v ;
; . (A) Figed 19 R Rem &1 sfieR
(B) :Loﬂ ;nental and physical punishment to (B) T @ TORF T ARG UE 37 P
(C) Arrangement for protection of child rights (C) 91 ARBRI & TR B FTwRT
(D) All of the above (D) SWH T
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25.  “It is wholehearted purposeful activity 25.  "gg gMifeie araraRer ¥ i R s aren
organised in social environment.” This EAELS) m‘f’f fohaTdeg 21" 38 v Ry
statement indicates towards which teaching P ey Ry & ik G Par & ?
method ? (A) W
(A) Demonstration
(B) Heuristic (B) RRea
(C) Problem Solving (C) T M
(D) Project (D) Hode
26. The level of anxiety which makes student 26. f3far &7 98 WR o B & &7 & o JOR
receptive of learning is : INATE, B e
(A) No anxiety (A) R 7 g
(B) Excessive anxiety (B) sfE B
(©) Normgl anxiety o ‘ © Riar
(D) Learning has no relationship with anxiety D) Ty ( ) 1 B @ B ieeT 78 2
27.  Inteam teaching, a team of : 27. 3 R d <q g
(A) Teachers, who prepare the teaching plan (A) =P F, W T P B TR W
and implement it P! Faraa &var 2
(B) Students, who prepare the teaching plan (B) B @1, & R Jror @ IR I} Iua
and i;lnplement it : RraTaaT o &
(C) Teachers and students, who prepare the " :
teaching plan and implement it © g?i_\rw 4 Eﬁﬁffﬁ @, f@m‘g A 3l
(D) None of the above b b
(D) S9w ¥ F 3 T
28.  Personality traits of Mesomorphic individuals ~ 28. JAHR INIRG W 9o afdd § 98 I
T e o1 R &
(A) Traditional and social (A) TERMETE T qfod
(B) Peace loving and solitary ®) W BT & vaid
(C) Energetic and angry S v
(D) None of the above © Qa ;
(D) S%w ¥ 4 P T
29. Teaching strategy is a : 29.  fmor g Il g
(A) Plan to achieve objectives (A) eI BT UG PR BT IOl
(B) Method OfteaChiﬂg (B) QIE:IT’T aﬁ ﬁﬁ'
(C) Extra activity in the class RN
(D) None of the above E[C))) m; A ¥ m?g
30. ‘Known to unknown’ isa: 30. ‘TI9 ¥ T @3N B UG .
(A) Teaching Method (A) Rreor fofy
(B) Teaching Maxim (B) Ryor 5!
(C) Teaching Technique ©) e
(D) Teaching Device
(D) fRmwor gfer
31. The brightness or dullness of any colour  31. & &1 &1 986 3ar Tj“:lﬁq'*'[ &7 A B
means with : (A) & Eef
(B) Value ©) B
(C) Colour m ﬁ
(D) Chroma (D)
32. In infant development from ‘near to far’ is  32. IUERN # de ¥ R A IR 8 a1 Adw
called : HEA © -
(A) Proximodistal (A) TR
(B) Longitudinal FIT'ﬁE'!];%W“
(C) Horizontal Eg; Eﬁ'ﬂﬁﬁﬁ
(D) Cephalocaudal (D) SR
87/107  indiresult.in whatsapp - 9352018749  B-4
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After oxidation of protein, it yields : 33. WO @ TR B Beredwy W BT @
(A) Carbon Dioxide + Water + Heat (A) BTET TS IMFZS + I + S
(B) Oxygen + Water + Heat (B) RIS + Wl + &S
(C) Carbon Dioxide + Water + Urea
(D) Oxygen + Water + Urea i A £ e S
According to ‘Pigment Colour Theory’, 34. <waviiy figrT & IR, wRifAd 41 8
primary colours are : (A) e, T TG el
(A) Red, Purple & Blue (B) e e ’Q'a' 5l
(B) Yellow, Blue & Green ' :
(C) Red, Yellow & Green (€) . E @ g"TTST'&lT
(D) Red, Yellow & Blue (D) iied, it T4
}Nhat should be the apfpro;{kma? te_:mper?;urﬁ 35. 'S= dN o9 99 fafr g ¥ @l
or pasteurization of mi uring ‘Hig ST AT I TRy ?
Temperature Short Time Method’ ? ?z? -le?zq & '
(A) 62°C o
(B) 143°C (B) 143 L
(G 72°C {C) 12°C
(D) 162°C (D) 162°C
Which substance is used as a starching agent  36. ¥ 9@ ¥ fbg yerel &7 Sl AT AT & ?
for silk clothes ? (A) HeT
(A) Refined flour (B) e
i (C) W
(C) Sago D \
(D) Arrowroot (D)
Psychoanalytical theory was proposed by : 37. HAfavemvTHS g wwaifad foar o
(A) Erik Erikson (A) 3IR® 3RHTH
(B) Spearman (B)
(C) Jean Piaget
(D) Sigmund Freud Eg’) r’ﬁ:"ﬁ R
“Chain stitch’ is a type of : 3. WRT W@UBR B ¢
(A) Hemming stitch (A) g—\rcng D TID @
(B) Temporal'y StItCh (B) ﬁ 0 m E‘Tﬁ' G2l
(C) Decorative stitch -
(D) Permanent stitch Eg)) S ;é ﬁga;rw
Which of the following is not a ‘speech  39. fy=fiRad § ¥ anfl Rer w4 & ?
disorder’ ? (A) GaarT
(A) Lisping (B) IRIE TR
(B) Slurring
(C) Sluttering (g) mgasau
(D) Speaking less (D) P 3%
In which year “Prevention of Food 40. “@rafarae fvy sffras v af & ol gam?
Adulteration Act” passed ? (A) 195030
(A) 1950 A.D. (B) 1960 %0
EB) 1960 A.D. (C) 1954 %0
C) 1954 AD.
(D) 1964 A.D. (D) 196430
Eating disorder characterized by self 41. fHeivEwenr # @F ge= QoR, e w@d @
starvation in adolescence is : T faRERar d&v 8 el & ¢
(B) Anorexia Nervosa
(C) Obesity (B) Qrié ?ﬁa;'“ e
(D) Overweight (g)
ZINDIRESULTH L s
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42.  Which is the nutrition deficiency disease from  42. fy=faiRad & |4 @9 91 UUENT 9 G=iAd
the following ? AJTE?
(A) Influenza A W’ :
(B) Bronchitis EB; :
(C) Anaemia f
(D) Malaria EI(.':))) v
43. Which is not main account to deposit money 43. P ¥ o T IR BT D T 799 g T g ?
in the bank ? (A) dre] @Rl
(A) Current Account (B) ﬁ’fsﬁ'a m STHT ErdT
(B) Fixed Deposit Account (C) I @l
(C) Saving Account )
(D) National Saving Account (D) TaT G
44.  Function(s) of UNICEF is/are : 44, qﬁﬁfb“ P R/E:
(A) Universal Immunization (A) SIS ST,
(B) Primary Health Care (B) Wi w@rey T
(C) Child Development and Nutrition .
(D) All of the above Eg)) Wi i w”“ ALY
45. Which year is declared as ‘Women 45. &9 @ q¥ ‘Afgen wufdmexor a¥ o fHar
Empowerment Year’ ? T ?
(A) 2001 A.D. (A) 2001 %0
(B) 2002 A.D. (B) 2002 %0
(C) 2003 A.D. (©) 2003 0
(D) 2004 A.D.
(D) 2004 %0
46. Cooking by boiling haemoglobin of meat is ~ 46.  JaTIBY UM W MIT HT BHFCE T &I ATl
destroyed, due to this its colour becomes : 2, 39 R ¥ TP T & I 8
(B) Red to white (B) W 3 W
(C) Red to brown C) @
(D) None of the above ED)) 1 ;I\;; Eﬁﬁ -
47. The mineral, which affects the functioning of ~ 47.  uRRigs ¥~ & frareierar & wfdd &= arel
thyroid gland is @ &
(B) Iodine G
(C) Phosphorus (2) R
(D) Sodium ED))
48.  Which country is called “Motherland of Silk” ?  48. XM I F=mfA’ e 37 BT Pel A 8 ?
(A) China (A) @9 @
Eg) Indla (B) ' IEG] a,ﬂ'
) oopan C) UM B
(D) Nepal ED§ el
49. The unit, in which intensity of sound is  49. fy @ digar & 4O B IPE &
measured : (A) sHEd
(B) Calorie
(C) Joule ()
(D) Newton (D) e
25/37 87/107 indiresult.in whatsapp - 9352018749 B-6
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50.  ‘Tetany’ is a symptom of : 50. e ud e
(A) Calcium deficiency (A) Dfezra™ 3T HH BT
(B) Protein deficiency (B) W & A BT
(C) Vitamin ‘A’ deficiency Pt o
(D) None of the above E[C); : qqﬁa;[\éﬁj%ﬁ
51.  The fibre, that burns with the peculiar smellof ~ 51. 98 ], O STeld 69U a1 & Sei oidl 79 <ol &
burning hair is : (A) fomH
(A) Linen B &
(B) Pure Wool EC; g:?q
(C) Rayon (D) HU
(D) Cotton
52.  Which is not the psychological treatment for 52. 9 IR @ ford g W B G FAdEG
Jjuvenile delinquency ? IUIN T & ?
(A) Mental Therapy (A) TARS Rt
(B) Play Therapy (B) e Ry
(C) Finger Painting Therapy ©) 3 . R N
D) Psycho—Drama Thera Aol
(D) Psy Py D) s R
53.  The stage between childhood and adulthood is:  53.  qTcUTawel U9 UIGaRel @ Heq &) 7GRN &
(A) Infancy (A) dreraren
(B) Adolescence (B) fareirmawen
(C) Embryonic Stage C
(D) Old age ED; L
54.  The second stage of ‘family life cycle’ is : 54. ‘uiRaR® oMew T & Gy aawr & -
(A) Establishing stage (A) RITUY gl
(B) Contracting stage (B) Wi awer
(C) Retirement stage ﬁaﬁqﬁa Joeer
(D) Expanding stage El(;; A
55.  ‘Day-dreaming’ is specially related to which ~ 55. ‘Ra—vawr 9w v ¥ b e ¥ gy &2
stage ? (A) 9T: W arawr
(A) Puberty stage B) URMANG arcurae
(B) Early childhood stage EC; SroTarer
(C) Infancy stage 3
(D) Adulthood stage (D) Hig
56.  The solvent used in dry cleaning is : 56. I ?gFITa‘ % ganT fohar 9 aren faoms 2
(A) Potassium Permanganate (A) URRrm Wi
(B) Hydrogen Peroxide B 313?‘5\‘31_" RATTAZE
(C) Carbon Tetra Chloride EC; T é;T FNES
(D) Oxalic Acid D) R 8
57.  Wool is a protein fibre, the name of protein 57. @9 URH gad = % 9 ¥ I @F 9t UeH
present in wool is known as : AR
(A) Fibrin A) BTERE
(B) Keratin EB; Sy
(C) Ceresin R
(D) Fibrinogen ©
(D) BrEfaHIeH
58. The name of silk worm which is found on 58. w%gmwwﬁaﬁm@rmaﬁﬁémw%
mulberry tree is : (A) T=RT G
(A) Anthraea pernyi (B) o<l diea
(B) Lady beetal (C) FTeh drea
(C) Black beetal (D) dfedw 2
(D) Bambyx swori indiresult in whatsapp - 9352018749
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59. “Development is that direction, which is  59. “fiFw @E T g W yfodw iReds & w9 H
continuously revealed in individual in the Tfm § AR yde B 8 o g8 wfadd
form of improving changes. This occurs in all gRad ot 4 afeg d EUIGI) ¥ oAb} UgrawRn
individuals from their embryonic stage to old I o & 3R ey 7= o fga § W@ 2
age.” This statement is given by : T8 T TR BT AUCUE B ¥ quT SHaT gNe
Eg; f{ng}iShk T ¥ B 81" T B R T E

urloc -
(C) James Drever &3 %%’,ﬂ;
(D) Munro (€) % IR EN
(D) T &w

60. Vitamin ‘C’ deficiency leads to this disease : 60. faofm & @ o6 & I8 T e 8
(A) Beri-Beri (A) -9
(C) Rickets sl
(D) Scurvy Eg)) ﬁ ﬁ@ﬁ

61.  Which is the body building nutrient among the ~ 61.  FifeRad # & @ &1 MR Fwvrs dhvs ea @ ?
following ? (A) BEEESC
(A) Carbohydrate (B) G|
(B) Protein (C) T
() =l (D) R
(D) Vitamin

62. The quality/qualities of a good communicator 62. TP IS WARSG @ T 8/ o o
is/are : (A) IR HEGH FT A
(A) Knowledge of communication channels (B) TR FA
(B) Well behaved (C) fiwa @ T’f T
(C) Thorough knowledge of subject (D) Wfi?ﬁ e
(D) All of the above

63. The main objective of this programme is to ~ 63. g4 BIUHA B = RWO-6TF T & Il &
enhance the health status of children of 0-6 TRy wR H FEIR Al 2
Age:group ¢ (A) I0IROAT0
E‘g; i'g'g's (B) 3mE0¥0SI0TH0
(C) LRDP. (C) 3MROSROI0vH0
(D) D.W.CRA. (D) SM03TYOHI0ROY0

64. Which of the following is not a principle of 64, frfaiad § ¥ a1 w1 Romgs &1 figra 78 2 ?
design ? Jurd
(A) gProportion ) .

(B) Balance (B) E, qel
(C) Colour (C) ¥
(D) Rhythm (D) <

65. Which social ability, children learn through ~ 65. WMIN® JIER @ §RT ATAS (b AAIGS Ardal

social behaviours ? P A @ ?
(A) To behave according to social acceptance (A) IS WHRd & TR AIER AT
(B) Social regression (B) Wi SR
(C) Authoritarian behaviour mm TR
(D) Social participation ©
(D) Wi e

66. Which nutrient is increased maximum by  66. @RV gRT HioM # f&w difes d@ @ A

germination of food ? Haits dedr & ?
(A) Vitamin ‘A’ (A) (e T
(B) Vitamin ‘K’ B) Rl 3
(C) Vitamin ‘C’
‘. (D) Vitamin ‘E’ (©) et <

% (D) P 4
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67.

68.

69.

70.

.

12.

73.

74.

75.

F’m

In the formation of wool fibres, middle layer
is known as :

(A) Cortex

(B) Carbon

(C) Medulla

(D) Carotene

The most unsafe cheque for a person is :
(A) Travellers cheque

(B) Cross cheque

(C) Bearer cheque

(D) None of the above

Which of the following is not an artificial fibre?
(A) Rayon

(B) Dacron

(C) Polyester

(D) Hemp

The formula for calculating B.M.L. is :
(A) Weight (Kg) / Height (Mtr.)

(B) Weight (Kg) / Height? (Mtr.)
(C) Height (Mtr.) / Weight? (Kg)
(D) Height (Mtr.) / Weight (Kg)

‘Consumer Protection Act’ was passed in :
(A) 1986 A.D.
(B) 1976 A.D.
(C) 1988 A.D.
(D) 1978 AD.

Which one of the following is a community
facility ?

(A) Attitude

(B) Post Office

(C) House

(D) Money

Generally by the end of two and half years of
age, child has temporary teeth :

(A) 20

(B) 16

(C) 24

(D) 18

Growth refers to which type of changes ?
(A) Qualitative

(B) Quantitative

(C) Definite

(D) None of the above

Potassium permanganate is used for :
(A) Purify water

(B) Purify milk

(C) Purify oil

(D) Purify honey

DIRESULTE
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67.

68.

69.

70.

71,

78

73

74.

19.

( #)INDIRESULTE
mi’sﬁaﬁmﬁmmm%
(A) B
(B) B
(C) #egel
(D) ®RIfeA
U Al & ford Faw SR 3% &1 &
(A) TE 9B
(B) &ifdd ud
(C) TEF IP
(D) SUH ¥ ¥ & T
fr=iferiad % & a1 G o T & ?
(A) XA
(B) SoRH
(C) g
(D) &9
F0THOTZ0 BT O &Y A &

(A) R (f&mm0) / Har (o)

(B) R (o) / Sarg? (Hio)

(© %3 (o) / R (Reumo)

(D) %3 (#o) / wR (o)

IeTa Gvevr R oiRa faar T
(A) 1986 30

(B) 197620

(C) 198830

(D) 1978 %0

frrfeea 4 & wrefie gfer o @ g ?
(A) 3fighy

(B) Ure 3

(€) =W

(D) g7

S T4 DT A B 3q TP qTAd B IR <fl
B T A AR W A 2

(A) 20

(B) 16

(C) 24

(D) 18

giE &1 3o 59 JeR & uRadar § 8 2
(A) TOTHD

(B) GRS / HAHS

(©) ffaa

(D) ST # ¥ BIg Tl

UIeRRM WFMe &1 g3 fhar o 2
(A) UMl B g T B fory

(B) T @ Y& 771 & forg

(C) 1 &I Y§ & & foly

(D) ¥EE B! Y§ XA B forg
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76.  Which of the following Vitamin is destroyed ~ 76. @M dTeil Hel fre e & T dRar g ?

by baking powder ? (A) faerfm &

(B) Vitamin ‘C’ ,

(C) Vitamin ‘D’ (g) wjﬁaa i ﬁg ¢
(D) None of the above (D)

77.  ‘Subject’ related to population data is called : 77.  wEET M6 e RNy FEe 8
(A) Sonography (A) EHERITH
EB) Dir?ogravhy (B) SHTEH
C) Bibliography ©) Rrganmey
(D) None of the above :

(D) SUgH # § IIg &

78.  Who said this “Roominess refers to the effect 78. % oo $E1 & ‘IR H A T FH RE @
produced by deriving the maximum beneﬁts SRFHTH IR FA § O Y9d IS B 2
from the minimum dimensions of a room.” ? oLl el R ?

(A) Sage (A) W9

(B) R.S. Deshpandey e

(C) Elizabeth Beveridge (B) JROTHO

(D) Ruth Martin (C) feroey gaRe
(D) & e

79.  “Metanil yellow’ is used as an adulterant in : 79.  fremad et @ w9 § A G 1 BT W@
(A) Red Chilli Powder fpaT WT &

(B) Pulses (A) @t i TeeR &

(C) Mustard oil (B) e &

(D) Honey (C) wE B aat #
(D) wEe #

80. When black colour is added to any colour,  80. g Fer 7 BT e amg w1 ¥ fyemar 9w g,
then it is called ? r 99 Fed & ¢
(A) Chroma (A) BT
(B) Tint
(C) Colour value 5) fewe
(D) Shade Eg)) %ﬁ;

81. In which type of account, interest is not given ~ 81.  Fmifeifad ¥ Y 59 UOR @ @ § 9 &
by bank ? T e ?

(A) Saving Account (A) T9d G

(B) Current Account

(C) Fixed Deposit Account (&) gga:m <Y o

(D) Cumulative Time Deposit Account Eg)) e & ot $

82. K\.avashiorkor and Marasmus are associated 82. TEIRIRDY AT IRRHN feferad Y TRl §
with : (A) Al B TA;M
(A) Insanitary conditions (B) T{[ T Oeor
(B) Total under nutrition ©) N—Fat W
(C) Protein—energy malnutrition R
(D) Vitamin ‘C’ deficiency D) Yl

83. Id, Ego and Super Ego are the part of : 83. gg, T T GW TN 3O Y t:

(A) Intelligence Quotient (A) tgﬁ; ey
(B) Personality (B) &
(C) Social Development (©) Tt R
(D) Motor Development
(D) TAEE B
* 25/37 87/107 B-10
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84.  Anaemia is caused due to the deficiency of 84. 59 UINS dcg DI B Q AT Bl g7
which nutrient ? (A) % ad
ES)) ;fon _ (B) WM
rotein
(C) Fat 5 Bl
(D) Carbohydrate (D) P
85.  According to Jean Piaget, the first stage of ~ 85. Ui Ui & SR, 9 & e @ v sEwr
cognitive development is : (A) T4 HfhaTd 3Rl
(A) Pre-Operational State B) T‘, e e
(B) Concrete Operation State TIRE T
(C) Formal Operational Stage © :
(D) Sensory Motor Stage (D) T TS SFawer
86.  pH 7.0 means that the food article’s nature is: ~ 86. pH 7.0 @I 3¢ & — gy TeRf P PR & -
Eg)) gasic | (A) &R
eutra e
EC) Acidic . E(P-g T
D) None of the above ; .
(D) STE 7 ¥ P e
87.  Water, normally boils at a temperature of : 87. UM, UMY ®Y H Sl & ¢
(A) 100°C (A) 100°C TUHH TR
(g) ggg (B) 150°C d9HH )
ED§ - (C) 135°C UM W
(D) 160°C d9AE W®
88.  The symptoms of Anaemia are : 88.  XGEAl T B T &
(A) Shortness of breath and headache (A) |9 Bl 9 RR 35
(B) Paleness of skin, nails & eyes (B) @I, AT @ affat % e
(C) Physical weakness & fatigue () TRRT AN T IFH
(D) All of the above D) I s
89.  The full form of F.P.O. s : 89.  uwodloaio & T AH ® :
(A) Fruit Products Organisation (A) %Z WredcH ANAgTH
(B) Food Price Order (B) e W aif<R
(C) Food Products Order ©) tr?@ Jreed aitsy
(D) Fruit Products Order D) H%:’ f : Aty
90.  The cause of AIDS is : 90. USH P BNV § :
(A) Amoeba (A) 3T
(B) Virus (B) ar&d
(©) Fungi (© qm‘-{a
(D) Bacteria (D) aﬁéﬁm
91. Milk does not provide which of the following ~ 91.  Fr=fafed # & @19 &1 Wve 79 g & wra &
nutrient ? gaT g ?
(A) Protein (A) WA
(B) Carbohydrate (B) WHT%‘E%E
(C) TIron (C) A
(D) Vitamin ‘B’ D) R 4
92.  Process of Ironing of fabric on large scale is ~ 92. 98 I4M W a6 W S = 31 UFHaT FEad!
called : 2?2
(A) Tentering (A) cvefhr
(B) Napping '
(C) Beatling Eg; %ﬂ;%m
(D) Calendering (D), v
INDIRESULTE Klireoatetn whatsapp - 9352018749
~Z5/37 87/107 B-11



indiresult.in whatsapp - 9352018749

@!Np.lm.s.‘

RTHER

93.  Menopause in woman of middle age is due to 93.  wegTgw # Afgera # Wﬂ'ﬁqﬁf foe gl & f
low level of which hormone ? W B SR BT 8 ?
(A) Testosterone (A) TR
(B) Adrenin (B) Qf;ﬁq
(C) Estrogen (C) TEIoH
(D) Thysoxine (D) orRifR

94. ‘Ramie’ is a type of : 94, W TP YBR I ¢ :
(A) Vegetable fibre (A) TS XEm
(B) Mineral fibre (B) w@fer X
(C) Artificial fibre (C) B ¥
(D) Animal fibre (D) R e

95. The ‘AGMARK’’ certification of any product 95. fdl I & ‘THG YEiER | ST @
assures the consumer regarding : 39 9N H T Terdm § ¢
(A) Correct selling price (A) W& fama T &
(B) Correct weight (B) W& WR &I
(C) Correct physical and chemical product (€) WMF Td TEERE T ¥ 9 IA B
(D) All of the above (D) G'El'{rﬁﬁ e

96. What do we add to cotton linters to make  96. @U @I ufedl ¥ F1 e § TRLRAIAN B
nitrocellulose ? fomfor grar 8 ?
(A) H2SO4 and Ether (A) H2SO43R R
(B) HNO; and Ether (B) HNO: 3R &R
(C) H2S04 and HNO; (C) sto4aﬂ-\r I‘IN03
(D) Ether and Alcohol (D) %R T FePET

97.  Which means is common for all ? 97. BN W WA G UG UF GHE & ?
(A) Energy (A) St
(B) Knowledge (B) s
(C) Time (C) 9wy
(D) All of the above (D) Wﬁfﬁ T

98.  The treatment of diabetic is possible through: 98,  #¥g & fifeq Il &1 STER =@ 2
(A) Balanced diet (A) Hgferd AER gRI
(B) Regular exercise (B) fafia amm g
(C) Insulin C) $fM gn
(D) All of the above ED)) G'mjjﬁ T

99. Yellow coloured substance secreted with 99. RR-%= & T a€ 4 & @ & 9 v
mother’s milk just after child-birth is : qrerr Grar gere #
(A) Protein (A) WS
(B) Cholesterol (B) Progra
(C) Colostrum C) PrargH
(D) Fat ED)) i

100. From the following which turns milk into  100. fiferRad & ¥ fbdd HRUT gy, <& # qqeiar & 2
yoghurt ? (A) 1@6[
(A) Glucose (B) Cel|
(B) Lactose e
(C) Galactose ©
(D) Sucrose (D) i
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@ gfr R 1F ol T § Fe WER A oRfTar ardt &, o sk ook & A g

If there is any mis-match in Hindi & English version, then english version will be acceptable.

T 3aq SN IR-TE T BT I W & fre 3 | S0TH0NN0 SR T Fe-gRaaT T I
aaifod B 7 a7 AR 7 & & R A e W k| 78 A e v 9 b v AR sifea fear @ e @
ﬁ%wwmmmﬁﬁmmﬁ&ﬁmmmﬂmmwm%lsﬂmaﬁ
PRI B R D 3P e S |

Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also
insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.

& grear 1 (Rough work) FE YRaan # & foar W |

Rough work is to be done in the Question booklet only.

T g o 3 IR ¥ I TR Row 3 AR @ & g0 @ B TaR W T 9 9t R T g 1 9w
M T P frg a1 1 o7 dfag e Y T I A WG|

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.

TR ¢ AT SO e fwa @ 9e W 41 56 UAR €

Example: Suppose Q.No. 41 of the subject is as below:

Q.No.41:  What type of mixture is smoke ? gaft e y@R 1 fsor 8 2
(A) Solid mixed with a gas A)  fafdm o
(B) Gas mixed with a gas (B) iy i i
(C) Liquid mixed with a gas (€) v fif¥m =@
(D) Gas mixed with a liquid and a solid (D) %a vd 3 fafdm

e s JTER T T B e S/ fawea (D)%,aﬁw—mﬁsﬁwmﬁwﬂﬁﬁw—aﬁaﬁmm‘m
4 B g B T IR W
If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Answer-sheet as follows:

Tera fafr

Correct method Wrong method

OO

(uﬁnaaﬁﬁﬁwﬁﬁﬂﬁmﬁﬁﬁéﬁ%mméﬁﬁm%wﬁ%ﬁﬁﬁ%mmwm
Y STHT W 3% FOTHD B € )

(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)

T i @ RIY ¥ Y TR @ I 2 B AR 9% 58 we-gRaer § @ wW s 79 e eyt semr
mﬁéaﬁsﬂaﬁwgﬁmﬁﬁﬁaﬁimﬂmwmﬁﬁwwm‘gﬁ%ﬁwmmﬂ

The candidates are strongly advised that in case they come across any discontinuity in the serial number of the
questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them.

B g ¥ s T Ay dewaTy aU A1 SRR A O A B, YR g @ w a3 2

Use of electronics/manual calculator and any electronic equipment like mobile phone etc. is not allowed.

=9 T ¥ HOE 36 FT WA | FP Teid SR B AY v 36 Fren TR
There is NEGATIVE MARKING in this examination. For every wrong answer % mark will be deducted.
) s T D A W AW AR TR A T A O 35 B W & | g A T SR B AR v 3D Ber T
On giving of two or more than two answer for every question, % mark will be deducted.
3. 39 FE-GRa@ ¥ I IgFHe IR Fer IR (Rough Work) @ afoRew 5o 7 ford |
Do not write anything except the Roll Number and rough work in this Question booklet.
s TRE GHRT B UET OMR €T B W B D W A B dR-dR TS wderedt iy B ol e W
& et e e W T St 9 o s o v FE |
Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate will
carry candidate’s copy and handed over the original and office copy of OMR Answer Sheet to the Invigilator.
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